Garden Gnomes

Secondo
Tom Gerou
Moderato (4 = 112-116)
Both hands one octave LOWER than written
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Garden Gnomes

Primo
Tom Gerou
Moderato (o = 112-116)
Both hands one octave HIGHER than written throughout
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Honey Bees & Lavender
Secondo

Moderato (o = 112-120)
Both hands one octave LOWER than written

Tom Gerou
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Honey Bees & Lavender

Primo
Tom Gerou
Moderato (o = 112-120)
Both hands one octave HIGHER than written
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A Decidedly Neighborly Waltz
(Eine Entschieden Nachbarschaftliche Walzer)
Secondo

Tom Gerou
Moderato (o = 112-120)
Both hands one octave LOWER than written throughout
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A Decidedly Neighborly Waltz
(Eine Entschieden Nachbarschaftliche Walzer)
Primo

Tom Gerou
Moderato (4 = 112-120)

Both hands one octave HIGHER than written throughout
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Golden Dragons on Red Silk

Secondo
Tom Gerou
Moderato (o = 112-120)
Both hands one octave LOWER than written throughout
ALL BLACK KEYS
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Golden Dragons on Red Silk

15

wiN

Primo
Tom Gerou
Moderato (o = 112-120)
Both hands one octave HIGHER than written throughout
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Accidental Blues
Secondo

Tom Gerou
Allegro (J =126-144)
Both hands one octave LOWER than written throughout
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Accidental Blues
Primo

Tom Gerou
Allegro (J =126-144)
Both hands one octave HIGHER than written throughout
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Picasso in Paris
Secondo

Tom Gerou
Allegro, ritmico (¢ = 120-132)
Both hands one octave LOWER than written throughout
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Picasso in Paris
Primo

Tom Gerou
Allegro, ritmico (4 = 120-132)
Both hands one octave HIGHER than written throughout
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